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MODERN COMPUTER APPLICATION
(New Syllabus )

2023
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Dk Special credit will be given for answers which are brief and
to the point. Marks will be deducted for spelling mistakes,
untidiness and bad handwriting. Figures in the margin
indicate full marks for the questions.
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READ THE INSTRUCTIONS I ENGLISH AT PAGE XO. 2 OF THIS

QUESTIOXN BOOKLET.
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l| it diagonally.

This Question Booklet consists of 24 pages.

This Question Booklet is in tweo versions — Bengali and
English. In case of any doubt or confusion, English version will

prevail.
|

Attempt the questions as per the instructions given there in.
Write the answers only in the Main Answer Script, nowhere

else.

Do Rough Work, if necessary, in Main Answer Script and cross \
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FEREfefes oRaR (MCQ) «3: Afee Soafsfes a*maﬁh' (SAQ) T&T,
ToRITE 2w AWE 2ol TABLE-@ forite TR |

(Tefltsafefes 2=t )
1. Row Saaalem Ton ot Afds Seafb @ug A @&l - 1 x21 =21
Ae Do -
(i) B o

SATANG diagram fire F @3 = [ 3 ?

(@) A+B (b) A+B
€ AB (d) AB

(i) 936 NOR gate-a3 output high 2 input 35 & 71 ?
@ 1,0 ‘ b) 1,1
) 0,0 d) 0,1

(iiiy fafeERe (.?FF{ﬁ;‘ <6 universal logic gate ?
(@) AND (b) XOR
(c) NOR (d) NOT

(iv)  Octal to Binary encoder -9 output line -«g e =&
(a) 8 (b) 4
) 3 . (d) 10

(v} 4 x 1 MUX’-9 selection line-99 33y 55
@1 () 2

© 4 @ 3
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(vi)

(vii)

(viii)

(ix)

(x)

(i)

COMA-23/XI1/2038(06)-N§

Aqex @G Half duplex mode—9d THIZd ?

(a}  Telephone (b) walkie-talkie
(c) Radio broadcasting  (d) Television
A @ network topology—(® server W 7
(@)  Ring (b) Mesh

(c) | Star (d) Bus

OS6 website—9ad FAY page— (T eIl TH

(a) Design page (b) Home page

() First page (d) Main page

HTML document-& (I text Al character-&d9 type [H<164

T & B (1 option B I=@ 41 =80 2

(a) <FONT> (b) <FONT STYLE>

(c)  <FONT FACE> (d) <FONT TYPE>

HTML-@ hyperlink ?F*ﬂ?{ & Ao &I tag U Frame o= 20 ?
(a) <HR> (b) <BR>

(c) <A> (d) <B>

@36 HTML document-93 default extension f& ?-

(a)  .html | (b) .htm

(€)  (a) 9% (b) @I 7w () (a) 932 (b) Toy
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(xii)

(xiii)

(x1v)

(xv)

(xvi)
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DML-9q *jfab z&l

(a) Data Multipurpose Language

(L) Data Managcable Language

(c) Data Manipulation Languagc

(d) Data Modulation Languagc

Relational Model-a @b table-«ad gfSfb row-¢F T =1
() Domain (b) Depgrece

(c) Tuple (d) Attribute

ER diagram—-C3 Il cntity—(F @RI & (IR ASIHO
A FA W ?

(a) Rectangalc (b) Ellipse

(c) Triangle (d) Diamond box

Mwa @D database- a9 FARF THIRAD ?

(a) Magazine (b) Story book

(c) Newspaper (d) Telephone directory

“CaTEH Bree AT WEe  ERamd PremE IEE |
— SY@rE statement—fb (P Y99 relationship-CSF o
A ?

(a) 1:1 (b) 1:N
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(i) FREfRe @ 28T W@ relational algebra—dd Cartesian

product operation-& QRCAT 2T ?
(a) T (b) o
(e} x (d D

(xviii) FR=ff¥e @G MS-Excel-@¥ logical function 7d ?

(a) AND (b) OR
(c) NOT (d) NOW
(xix) MS-Excel 2007-49 ............... IFH cell referencing Gl A9 |
(a) S (b) 2
(¢ 3 (d) 4

(xx) NG @G MS-Access 2007-9¥ object T ?
(a) Report | (b) Application
(c) Form (d) Query

(xxi) MS-Access-9a Text data type-4d ARICS @ data type

FJIRE FA T ?
(a) Character (b} Memo
(c) OLE object (d) Number
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FriiRe gxelem nfve Gag nie (Reg oeizfa 7sidu) : 1 x 14 = 14

(i)

(1)

(1i1)

(iv)

v)

(vi)

(vii)

NOR gate I/A21] FCI AND gate TS FAT |
2 x 1 MUX-9¥ block diagram 6 <%= 3¢l |
w2

1 x 2 De-MUX~-@3 truth table {6 @&ETdT |

Two-level circuit ¥FICF qCA ?

9l
Multiplexer—(& data selector 9= *8 (&4 ?

Half-duplex @92 full-duplex communication mode—9d

NPT AT |
2

Internet—9 [IPv4 addressing-9 class C address—«d

structure T 1

10 5 computer 39eTS Mesh topology 714 FACS FORfH link
AT ? '

Firewall f& ?
Hql
E-mail [d—9Qd 540 10T |

Y6 search engine-93 TWIZad w16 |
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(ix)

(x)

(xi)

(xii)

(xi1i)

(x3v)

COMA-23/XI1/2038(06)-Ng

HTML-4 line break fed (18¥ 2 ?
T2l

HTML-@& <OL> tag—-4dd syntax ¢ACAT |

@A tag TIA FE@ HTML-4 (I

HTML-9 FA4FF paragraph align

el

HREF-@3 =«f&f5 ICat |

Candidate key TCS $1 @A ?
[l

Database instance 390G S EICAHT ?

(FIAT relation—-«d cardinality f& ?

)

LRIE

Data dictionary—< AT 10T |

MS-Excel-4 last column-9d address f& ?
RS

MS-Excel-9 Concatenate function-%% 1% f&

MS-Access—-49 lookup wizard-9q3 F1% J|

- gt

MS-Access—9@ show table dialog box—«g IS ?

text-—ca BO]d W qH ?

mcntmmﬁﬁsﬁi?

=
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(FRreafSies / afanEm e )

fAafaRe eafer Ta wie (Rew awafH wrsdm) - 7 x5 =35

(a) Truth table TEF T full subtractor circuit—-9¥ difference
8 borrow-4@9 logical expression ®fél derive T @32 logic
diagram 6 &% A |

(b) 1 x 4 De-MUX-99¥ circuit diagram b %= =11

(2+2)+3
YS!

(a) «Fb 3 to 8 decode.r—tﬂ"ﬂ' truth table & T @32 logic
diagram f0 <& ¥t

(b) Decoder @ Encoder-«3 04 7o LIy =0T |

(c) 9% Half Adder IRTA FE GF Full Adder o7 ICAT |

(17+13)+2+2

(a) HTML-4 (FTAl text—(F heading ("8I &A] & tag IRIR
A W ? O THATFH S I F ?

(b) ‘Picture-1.JPG’ picture f0t& webpage-9 insert IIF T
ATAISATE syntax AT |

() HTML-& ‘BODY’ tag-9d (& Al 90 attribute-93 w19 @
SR IS BLgE I | 2+2+3

Y]l
(a) fA=fi® HTML tag ®ff S1@ @

(i) <FONT> (ii) <HR>

[NS-COMA 9 of 24
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i B
(b) AT text-CF Fro@ subscript S superscript on

HTML code CACHT I

ceTcdl |
(c) Container tag Q@R empty tag -9 Y ""ﬂquﬂ

3+2+2
GWIZAS FLETs Ayl ICAT
(a) Cartesian product ;
(b) Selection
(c) Projection. 3+2+2
EALE ]
fafes table 6 = AT :
Product (Pid, Pname, Price, Company)
Pid Pname Price Company
P0OO1 ™V 15000 LG
P0O0O2 AC ' 40000 Voltas
P0O03 Refrigerator 20000 Samsung
P0O04 Microwave oven 16000 LG _
POOS Washing machine 30000 LG
Py

i
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frafefis sl F99 ©91 SQL query GITAl €32 output IS :

(a)

(b)

(c)

()

(b)

(b)

(c)

(b)

@ 798 product-«F price 20000-93 [f* SITHA [T 8 price

G418 |

G2 W8 product -99 details GTI18 THE manufacturing

company 2= ‘LG’

Product-«3 Wit fSfars ascending order—4 j1[]“@]‘*{?+-I
(1+1)+(1+1)+(1z+13)

MS-Excel 2007-49 cell merge A &S0 G |

TODAY () 8 COUNT IF () function @& S 1T |

3+(2+2)
R2C B

MS-Excel-4 cell range I5Cs F QLT ? THTZA WIS |

MS-Excel-d (FICAT 94 worksheet et AAE= F41 I ?

T @A : Relative cell reference. (1+1)+2+3 °

MS-Access—49 Design view '8 Datasheet view—9d ‘iﬁ MIRIESS

CeTCdt |

MS-Access—-a ¥ table-4d T relationship ol AR

oigfofs QAT AT
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(c)

(a)

(b)

(c)
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= |
MS-Access—4 ‘ch()rt_’t@',zﬂ?‘{ ﬁm Hﬁ’-ﬂ et
12l
MS-Access—9 Auto form oI oz feflt Tl |

‘Sclect Query’ @ Cross tab Query’

2+3+9

—q sy qfo Ny )

MS-Access—4 ‘OLE object’ 8 ‘Mcmo’ data Lype BRG]

CoAT3T |

NS-COMA

3+2+2
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( ENGLISH VERSION )

The questions related to MCQ and SAQ should be answered in the
specific printed TABLE accordingly in the Answer Script.

( Multiple Choice Type Questions }

1. Select the correct answer from the alternatives : 1x21 =21

_ A e >So .
) B e >o

What will be the value of Fin the above diagram ?

(a) A+ B (b) A+ B
(c) AB (d) AB

(ii) What will be the two input of a NOR gate when the output

is high ?
(a) 1,0 (b) 1,1
(c) 0, 0 \[f,i] 0,1
(iili) Which of the following is an universal logic gate ?
(a) AND (b) XOR
(<) NOR (d) NOT

(e

(ivy The number of output line of an Octal to Binary encoder is

(@) 8 (b) 4
(c) 3 (d) 10

[Ns-Coma 13 of 24
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(vi)

(vii)

(viii)

(ix)

w‘

The number of selection line in & » 3 WK =

@ 1 b)) 2
v’ —

(c) 4 d 3
Which of the following is 2n ex=mpl= f B=lf duplex mone
(@) Telephone (b) Wzlkhe-zide

v
(c) Radio broadcasting  (d) Television

Which of the following network 10pology USES server 2
(a) Ring (b) MWesh

(c) Star (d) Bus

The first page of a website is called

(a) Design page (b} Home page
(c) ;irst page (d) Main page

Which of the following option is used to select the type

text or a character in HTML document ? -

(a) <FONT> (b) <FONT STYLE>
(c) - <FONT FACE> (d) <FONT TYPE>
AV
NS-COMA 14 <




(x)

(xi)

(xii)

(xiii)

(xiv)

COMA-23/XII/2038({06])-NS

Which of the following tag is used to add hyperlink in
HTML ?

(a)  <HR> (b) <BR>

() <A> (d) <B>

What is the default extension of a HTML document ?
(a) html . (b) .htm

(c)  Neither (a) nor (b) © (d) Both (a) and (b)
Full form of DML is

(a) Data Multipurpose Language

(b) Data Manageable Language

(c) Data Manipulation Language

(d) Data Modulation Language

Each and every row of a table in Relational Model is

known as
(a) Domain (b) Degree
(c) Tuple (d) Attribute

Which symbol is used to represent an entity in

ER diagram ?
(a) Rectangale * (b) Ellipse

(c)  Triangle (d) Diamond box

NS-COMA 15 of 24
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By 3
rialc example of at
(xv) Which of the following is &P appropP k

databasec ?

(a) Magazine (b) Story book

(c) - Newspaper (d) Telephont directory

in a class.” Which

(xvi) “A teacher teaches many students

rclationship is defined in the above statement ?
(a) - 1:1 (b) 1:N
(cy N:M (d) None of these

(xvii) Which of the following symbol is used to represent

Cartesian product operation in relational algebra ?

(b) o

(a) .

d) Pd

(<) x

(xviii) Which of the following 1s not a logical function of

MS-Excel ?
(a) AND "~ (b) OR
(c) NOT (d) NOw
(XIX)  ceernriiianns types of cell referencing are there in

MS-Excel 2007.

(a 5 b) 2
(c) ~ 3 @ 4
| NS-COMA ] N
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(xx)

COMA-23 ,{XH{2038]06|-HS

Which of the following is not an object of MS-Access 2007 ?
(a). Report (b) Application

(c) Form (d) Query

(xxi) Which data type can be used instead of Text data type in

MS-Access ?
(a) Character (b) Memo
(c) ~ OLE object (d) Number

( Short Answer Type Questions )

Answer the following questions in short ( Alternatives are to be

1x14=14

noted ) :

(i)

(i)

(111)

Construct an AND gate using NOR gate.
Draw the block diagram of 2 x 1 MUX.

OR
Write the truth table of 1 x 2 De-MUX,

What is two-level circuit ?

OR

Why multiplexer is called data selector ?

[NS-COMA 17 of 24
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(v)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

cOMA-23/X11/2038(06)-Ng _i

and full-duplex

Write the diffcrence betwcen half-duplex

communication mode.

OR

Write the structure of class C address in |Pv4 addressing

of internect.

How many links are needed to construct a Mesh topology

with 10 cofnputers ?
What is Firewall ?
OR
Write the structure of E-mail Id.
Write two examples of search engine.
How can you break a line in HTML ?
OR
Write the syntax of <OL> tag in HTML.
Which tag is used to Bold a text in HTML ?

How many types of paragraph alignments are there in

HTML and what are those ?

OR

Write the full form of HREF.

=
[Ns-cOMA 18 of 24
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(i)

(x11)

(xiii)

COMA-23/XI1/2038(06)-NS

What is candidate key ?
OR
W-hat do you mean by database instance ?
What is cardinality in a relation ?
OR
Define data dictilorlary.
What is the address of last column in MS-Excel ?
OR
What is the role of concatenate function in MS-Excel ?

What is the function of lookup wizard in M3-Access ?

(xiv)
OR
What is the use of show table dialog box in MS-Access P
( Sui:jective / Descriptive Type Questions )
3. Answer the following questibns [Alte%natives are to be noted) :
7 x5 =35
(a) Derive the logical expressions for difference and borrow of

a full subtractor circuit using truth table and also draw

the logic diagrarmt.

[NS-COMA | 19 of 24




(b)

(a)

(b)

(a)

(b)

(c)

(a)

(b)

(c)

COMA-23/XI1/2038(06).g

-MUX. (2+2)4+
Draw the circuit diagram of a 1 x 4 D€ M ( )+ 23

OR

Write the truth table of 3 to 8 decoder and also draw th
logic diagram of it.

Write two differences between Decoder and Encoder.

Construct a Full Adder by using two Half Adder.

(134 13)+2+2

Which tag is used to make a text as hcading in HTML ?

How many types of it and what are those ?

Write the syntax to insert a picture named ‘Picture-1.JPG

in a webpage. https://www.westbengalboard.com

Write the name of any two attributes and their functions

of ‘BODY’ tag in HTML. 24243
OR

Write the purpose of the following tags in HTML

(i) <FONT> (ii) <HR>

Write the HTML codes to subscript and superscript of a

text.

Write the difference between container tag and em tag
pty tag-

3+24+2

NS-CO
MA 20 of 24
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Explain with example :

(a) Cartesian product

(b]1 Sclectic;n

(c) Projection. 322

OR

Look at the following table : _

Product (Pid, Pname, Price, Compan};]

Pid Pname Price Company

POO1 TV | 15000 . LG

POO2 AC | 40000 Voltas.

P0O0O3 Refrigerat;.or ' 20000 -S_amsung
_1:’004 Microwave oven 16000 , LG

PO0O5 Washir{g machine | 30000 LG
S

he SQL query and give output to do the following tasks :
Write the

the name and price of the product whose prices are
Show

(a)
n 20000.

21 of 24 .
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(b)

(c)

(a)

(b)

(a)

(b)

(a)

(b)

()
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Show the details of the product whose Imanufacturing
company is ‘LG’

Arrange the records of all products according to their

+( 17+
price in ascending order. (1"‘1)*(1""1] (1z 1%}

Write the steps to perform cell merge operation in

MS Excel 2007.

Write the purpose of - TODAY ( ] and COUNT IF {]

functions. 3+(2+2)

OR

What do you mean by cell range in MS Excel ? Give

example.

How can you insert a new worksheet in MS Excel ?

Write a short note on relative cell reference.
(1+1)+2+3

Write two differences between Design view and Datasheet

view in MS-Access.

Write the procedure to make the relationship between two

tables in MS-Access.

Write two advantages of making ‘Report’ in MS-Access

2+3+2
OR

22 of 24
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(a) Write the procedure to make an Auto form in MS-Access.
(b). Write two differences between ‘Select Query’ and ‘Cross
tab Query’.

(c) Write the functions of ‘OLE object’ and ‘Memo’ data type

in MS-Access. 3+2+2
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